P.3A Grammar Revision (iLearn questions)

Read and choose the correct answer.

1. Mum: The children are hungry.
Dad: Let's order .

four slice of cakes

four slice of cake

four slices of cake

O|0|0|0
o0 |w| >

four slices of cakes

N
>

: is a packet of potato chips?
B: It's fifteen dollars.

How

How much

How many

Ol0|0|0O
o0 |wm|>

How old

w

. There aren't potato chips in the cupboard.

a lot of

some

any

Ol0|0|0O
o 0| ®m|>

no

4. Games Week is 13th Mach 17th March.

from ... to

to ... from

on...on

O0|0|0O
O 0O|m|>

from ... from




5. A: Let's join a class together.
B: ____ do you want to join, the painting class or the craft
class?
A: I want to join the craft class.

What

Which

Where

A
B
C
D

O|/0|0|0O

Why

o

Mr Au can a bicycle but he can't a car.

rides ... drives

riding ... driving

O0|0|0|0

A
B ride ... drive
C
D

rode...drove

a film?
No, he a buffet lunch.

~
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Does he wants to watch ... wants to have

Does he want to watches ... want to has

Does he wants to watches ... wants to has

Ol0|0|0O
o 0O|m|>

Does he want to watch ... wants to have

any eggs?
You can find some in the fridge.

oo
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Is there ... Yes, there is.

Is there ... No, there isn't.

Are there ... No, there aren't
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Are there ... Yes, there are.




